
Combinatorics, 2016 Fall, USTC
Homework 3

• The due is on Tuesday, October 11, at beginning of the class.

• Solve all problems.

1. In how many ways can one divide a convex n-gon into triangles by n− 3 non-intersecting
diagonals in such a way that each triangle has an edge in common with the convex n-gon?

2. Recall the Stirling number S(n, k) of the second kind.

(1). Prove that for all 1 ≤ k ≤ n,

S(n + 1, k) = S(n, k − 1) + k · S(n, k).

(2). For a fixed k, let Ak(x) be the ordinary generating function of the sequence {S(n, k)}n≥0.
Find a closed form of Ak(x). (When 0 ≤ n < k, S(n, k) is defined to be 0.)

3. Let an denote the number of mappings f : [n] → [n] such that if f takes a value i, then
it also takes every value j for 1 ≤ j ≤ i. Let a0 = 1. Find the closed form of the generating
function f(x) of {an}n≥0.

4. A binary tree can be defined by induction as follows: a binary tree either is empty (it
has no vertex), or consists of one distinguished vertex called the root plus an ordered pair of
binary trees called the left subtree and right subtree. Let bi be the number of binary trees with
n vertices. So b0 = 1, b1 = 1, b2 = 2, b3 = 5 and so on. Find a closed form for bn.

5. Consider a random walk along the x-axis, where we start at the integer 0 and in each
coming step we move from integer i to i + 1 or to i− 1 with probability 1/2.

(1). Prove that every integer k is visited at least once with probability 1.

(2). For any positive integer k ≥ 1, what is the expected number of steps needed to get at
least k steps away from 0 (i.e., to reach k or −k)?

6. Given arrangements of a special type, called the type I. Let an be the number of such
arrangements of n people, where a0 = 0 (no empty group is allowed). Let A(x) be the
exponential generating function of {an}. We now define arrangements of n people of a new
type, called the type II, as follows. Fix k ≥ 1. An arrangement of n people of type II is
obtained by dividing the given n people into k groups, called the 1st group, the 2nd group,...,
and the kth group, and arranging each group by an arrangement of type I. Let bn be the
number of arrangements of n people of type II; and let B(x) be the exponential generating
function of {bn}. Express the exponential generating function B(x) using A(x) in a closed
form.

7. Recall that the nth Bell number Bn is denoted to be the total number of equivalences of
[n]. Find the exponential generating function for {Bn}n≥0.
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